Installation Tips
SKU:B0103-01001BK

BEFORE YOU BEGIN

1. Read these instructions and check to be sure all parts and tools are accounted for.
2. Please retain these installation instructions for future reference and parts ordering information.

IMPORTANT

1. Please read the installation instructions carefully before you start.
2. If the vehicle is clean and free of other debris, it will be easy to install.
3. For your safety and to ensure a satisfactory installation, please complete all the installation steps in the order shown below.

PRODUCT INFORMATION:

1. LH Front Fender x1
2. RH Front Fender x1
3. LH Upper Rear Fender x1
4. RH Upper Rear Fender x1
5. LH Lower Rea Fender
6
7
8

. RH Lower Rear Fender
. K5x40 Self-tapping Screw
. M6x25 Screw

9. M6x30 Screw

10. Rubber Plug

11. M6 Nut

v
12. Wahser x32

INSTALLATION TIPS:

STEP 1: Place RH front fender [2] against vehicle body panel, mark and drill six 3mm holes. Secure
the fender [2] with six self-tapping screws [7] and washers [12].

STEP 2: Place RH upper rear fender [4] against vehicle body panel, mark and drill five 3mm holes.
Secure the fender [4] with five self-tapping screws [7] and washers [12].

STEP 3: Place RH lower rear fender [6] against the vehicle.
- For 2019 Models and prior, mark and drill four 6.5mm holes on body panel (figure A).
- For 2020 Models and up, mark and drill three 6.5mm holes and one 12.5mm hole on body
panel (figure B).

STEP 4: Install RH lower rear fender [6] to vehicle body panel.
- For 2019 Models and prior, secure the fender [6] with four M6x25 screws [8], washers [12] and nuts [11] (figure C).
- For 2020 Models and up, secure the fender [6] with three M6x25 screws [8], one M6x30 screw [9], one rubber plug [10], four washers
[12] and four nuts [11] (figure D).

STEP 5: Repeat step 1-4 for LH fender installation.

10of1



Administrator
ﾴ￲ￗￖﾻ￺ￎￄﾱﾾ
SKU:B0103-01001BK

Administrator
ﾴ￲ￗￖﾻ￺ￎￄﾱﾾ

Administrator
ﾴ￲ￗￖﾻ￺ￎￄﾱﾾ


